
Rear left hub
(Right same)

Rear hub plate

Rear hub plate for shock

M3x6mm buttonhead

M3 locknut black

4.3mm pivot ball S

5.8mm Pivot ball bolt type S

Rear hub

Turnbuckle h4 27mm

M3x3mm buttonhead

2x19.8mm pin

6x10x3mm  bearing

(Right side)(Lest side)

Rear universal set

Rear left upper arm
(Right side same)

Ball End Cap Standard

M3 Nut

M3x6 mm

--X 2

--X 2

--X 8

--X 4

--X 2

--X 2

--X 2

--X 2

--X 2

--X 2

--X 2

--X 4

--X 4

BAG

Q

BAG

R

M3x6 mm

6x10 mm Bearing

6x10 mm Bearing

2x19.8 mm Pin

M3x3 mm

4.3 mm Pivot ball S

Note: Suggest position

5.8 mm Pivot ball S

8.5 mm 

P.9


